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(8) | E5R) [ opm) | BERD | (%) | (B) | () [ (opm) | (ppm) | (X - EO) (B)
& R mW|f@EmEB[E 366 8703 0.000 0 0.0 0 0.0| 0.005| 0.001 O 0
& R m|/hE|E 303[ 7222 0.000 0 0.0 0 0.0 0.006| 0.001 O 0
& R W4 #WE 366/ 8701 0.001 0 0.0 0 0.0| 0.013[ 0.002 O 0
t B fi|lt El&F 348 8270 0.000 0 0.0 0 0.0 0.005| 0.001 O 0
t B WA &E 360 8598 0.000 0 0.0 0 0.0| 0.047[ 0.002 @) 0
N R TN RMEET 365| 8676/ 0.000 0 0.0 0 0.0| 0.007| 0.001 (@) 0
W B W S|X 343| 8232 0.000 0 0.0 0 0.0[ 0.004| 0.001 @) 0
B W o EE 366 8689 0.000 0 0.0 0 0.0| 0.007| 0.001 @) 0
BE % W|R E|E 366| 8696/ 0.000 0 0.0 0 0.0[ 0.023[ 0.002 (@) 0
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(B) | (B | (ppm) | (ppm) | (BFRED | (%) | BERED | (%6) | (B) | %) | (B) [ (%) [ (ppm) (H)
& R mW|fEmEB[E 360 8600 0.005| 0.055 0 0.0 0 0.0 0 0.0 0 0.0| 0013 0
& R m|/hE|E 299| 7160 0.004| 0.043 0 0.0 0 0.0 0 0.0 0 0.0| 0012 0
& R W|H R[E 362| 8589 0.005| 0.169 0 0.0 1 0.0 0 0.0 0 0.0| 0015 0
& R W|BR @E[E 362 8632 0.05 0.036 0 0.0 0 0.0 0 0.0 0 0.0| 0011 0
& R W|f@E  #WE 362| 8630 0.005[ 0.040 0 0.0 0 0.0 0 0.0 0 0.0| 0012 0
& R |4 #WE 365 8696 0.003| 0.028 0 0.0 0 0.0 0 0.0 0 0.0| 0.007 0
+ B |t ElEF 366| 8674 0.002| 0.022 0 0.0 0 0.0 0 0.0 0 0.0] 0.006 0
t B WA &E 363| 8656| 0.002| 0.018 0 0.0 0 0.0 0 0.0 0 0.0 0.005 0
IN R TN [T 364| 8677 0.004| 0.035 0 0.0 0 0.0 0 0.0 0 0.0[ 0.008 0
W5 W S5|X 356| 8538 0.002| 0.041 0 0.0 0 0.0 0 0.0 0 0.0[ 0.006 0
g mW|REFE 366] 8679 0.003| 0.021 0 0.0 0 0.0 0 0.0 0 0.0| 0.008 0
P P K|S 327| 7839 0.002| 0014 0 0.0 0 0.0 0 0.0 0 0.0| 0.004 0
=TT A TTTR 1 B S 348| 8247 0.003[ 0.023 0 0.0 0 0.0 0 0.0 0 0.0] 0.006 0
B W s EE 362 8612 0.004| 0.040 0 0.0 0 0.0 0 0.0 0 0.0| 0.009 0
BE % W|R E|E 366| 8674 0.004| 0.049 0 0.0 0 0.0 0 0.0 0 0.0[ 0.009 0
R ETE O MB|E 366| 8672| 0.003| 0.021 0 0.0 0 0.0 0 0.0 0 0.0[ 0.007 0
Mo BT[N | 366 8677 0.004| 0.051 0 0.0 0 0.0 0 0.0 0 0.0| 0.011 0
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98%fE 98%{E
(B) | (B | (epm) | (opm) | (ppm) [ (H) | (B | (opm) | (ppm) | (ppm) (%)
& R W|@EmE|E 360| 8600 0.002| 0.096| 0.008 360| 8600 0.006] 0.149] 0.021 74.6
& R Wm|/hiLEF|E 299| 7160 0.002| 0.115| 0.017 299| 7160 0.006] 0.149] 0.031 62.9
& R W k|E 362| 8589 0.001| 0235 0.007 362| 8589 0.006[ 0.404| 0.023 86.4
£ R H|ER @[ 362| 8632 0.000] 0.028] 0.001 362| 8632 0.005[ 0.063| 0.012 94.0
£ R W@ #|E 362| 8630[ 0.001| 0.041| 0.003 362| 8630[ 0.005[ 0.081| 0.014 88.7
€ R WA &H|E 365| 8696 0.000[ 0.028| 0.002 365| 8696 0.004| 0.053| 0.009 87.5
t E Wt E|E 366 8673 0001 0028] 0003 366| 8673 0003 0.043[ 0.008 77.8
t E #\ld &[E 363| 8656 0.000[ 0.020| 0.002 363| 8656 0.002| 0.033] 0.006 85.7
Ao Ty | ET 364| 8677| 0.001| 0.058| 0.005 364| 8677| 0.005| 0.084| 0013 78.6
W B M| Bk 356] 8537 0.000( 0085 0004] 356 8537 0.002 0.108] 0.010 76.9
B m|REFE 366 8679 0001 0031| 0004 366| 8679 0.005 0.046| 0011 75.6
PRI PR ) 327| 7839 0.000] 0.009| 0.001 327| 7839 0.002 0.02| 0004 90.1
B W Wl S|% 348| 8247 0.001| 0.029| 0.003 348| 8247 0.004[ 005/ 0008 77.2
B W ms 362| 8612 0.001| 0030] 0003] 362 8612 0005 0070[ 0012 81.1
BE % MR E|E 366] 8674 0001 0030] 0003 366| 8674 0005 0077| 0012 783
# g ETE ME|E 366 8672 0001 0023] 0002 366 8672 0.003| 0042 0.008 82.8
M OE ET( EE[E 366] 8677 0.000[ 0035 0002 366| 8677 0.004| 0086 0012 91.2
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(B) | (B8 | (pm) | ([ED) (%) H (%) | (ppm) | (opm) | (B x - &O) (/) (/)
B W o EE 366 8680 0.2 0 0.0 0 0.0 1.0 0.3 (@) 0 0
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(B8) | (R [ (epm) | (A) | (B¥R) | (H) | (BFRED | (ppm) | (ppm) (ppm) (ppm)
& R W|@EmEE|E 366 5476 0.040 49 281 0 0| 0.093] 0.049 0.074 0.073
& R Wm|/hiLEF|E 305 4544 0.036 26 144 0 o[ 0.090| 0045 0.073 0.073
& R W R|E 366 5476 0.037 33 198 0 0| 0.092] 0.046 0.073 0.072
& R W|ER @&E|E 365| 5444 0.039 37 209 0 o[ 0091| 0047 0.072 0.071
& R Wm|@E &H|E 366| 5475 0.038 32 192 0 o[ 0091| 0048 0.072 0.072
& R Wm|d &H|E 366| 5469 0.037 35 199 0 o[ 0091| 0047 0.074 0.073
t B Wlt ElEF 366 5447 0.038 37 223 0 o[ 0.084| 0047 0.071 0.069
AN R TN R|ET 366| 5443 0.038 36 186 0 0| 0.088 0.048 0.072 0.070
B Wl B[X 366 5428 0.039 39 279 0 0| 0.087| 0.047 0.074 0.071
B m|REFE 366| 5454 0.035 33 158 0 0| 0.090| 0.047 0.070 0.069
PRI PR ) 366| 5454 0.040 45 274 0 o[ 0.084| 0049 0.074 0.073
B W Wl 5% 366| 5426 0.038 39 234 0 o[ 0091| 0048 0.073 0.073
B W ms FE 366| 5450 0.041 73 493 0 ol o0.100] 0.050 0.076 0.072
BE & MR E|E 366| 5459 0.038 4 180 0 0| 0.096] 0.048 0.070 0.070
E Mg ETE MB|E 366| 5457 0.037 44 254 0 0| 0092 0.048 0.073 0.072
M ET(R | 366| 5444 0.039 40| 235 0 0| 0.090| 0.048 0.074 0.073
PREEET(EE SR 366| 5448 0.039 32 216 0 0| 0.089| 0.048 0.075 0.074
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PROMBE| Li-CenBE | BA-BH
(B) | BFRED |(me/m®)| BFRED | (%) (8) (%) | (mg/m|(meg/m¥| (B *x - EO) (")
& R m|@EmEB[E 362| 8709 0.010 0 0.0 0 0.0| 0071 0025 (@) 0
£ R m|/hE|E 299| 7218 0.010 0 0.0 0 0.0| 0.049| 0.022 O 0
& R W4 #E 362| 8713 0.009 0 0.0 0 0.0[ 0.105| 0.025 O 0
t B M|t ElE 362| 8707 0.012 0 0.0 0 0.0| o0.110| 0.030 O 0
t B WX H|X 362| 8713 0.013 0 0.0 0 0.0| 0.137| 0.031 O 0
t B W|BEBEX 346| 8348 0.009 0 0.0 0 0.0| 0.112[ 0.030 @] 0
t B m|geEB|X 355 8588 0.007 0 0.0 0 0.0| 0092 0024 O 0
t B WA &E 360 8695 0.011 0 0.0 0 0.0[ o0.116| 0.033 O 0
/AN NI ] A VN - 360 8678 0.007 0 0.0 0 0.0| 0.093| 0.021 O 0
W W B|X 357| 8659 0.010 0 0.0 0 0.0[ 0.077[ 0.025 (@) 0
g m|REFE 362 8718 o0.010 0 0.0 0 0.0| 0.066| 0.024 O 0
BRI (G PR 353| 8517 0.009 0 0.0 0 0.0[ o.110[ 0.026 (@) 0
B W Ml 8% 358| 8673 0.010 0 0.0 0 0.0| 0081 0024 @) 0
B W o EE 361 8704 0.011 0 0.0 0 0.0| 0.140[ 0025 O 0
B W E xR 362| 8715 0.011 0 0.0 0 0.0| 0.088| 0.025 O 0
BE % W|R  E|E 360| 8687| 0.008 0 0.0 0 0.0[ 0.085| 0.023 (@) 0
IR ETIE WB[E 362| 8713 0.011 0 0.0 0 0.0[ 0.083[ 0.026 (@) 0
Mo BT[N | 362 8697 0012 0 0.0 0 0.0[ 0073[ 0.027 @) 0
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(B) | (B5RE) (¢ g/m® (B) | (%) (¢ g/md) (¢ g/m*) (B) (/) (pg/m)
& R H|@EmE[E 355 8606 6.4 0 0.0 19.0 16.2 0 0 16.2
£ R m[/hiLE|E 206 7174 45 0 0.0 17.3 13.3 0 0 13.3
& R Wk R|E 357| 8632 5.8 0 0.0 19.9 14.6 0 0 14.6
€ R W& &|E 356| 8620 6.4 0 0.0 21.6 17.0 0 0 17.0
& R W& EH|E 355| 8615 6.9 0 0.0 23.4 17.8 0 0 17.8
t B Wt E|E 354| 8545 7.1 0 0.0 255 18.0 0 0 18.0
AN Y T[N R(ET 355| 8552 7.0 0 0.0 23.0 16.4 0 0 16.4
WS @ B[k 348 8493 5.6 0 0.0 24.4 16.2 0 0 16.2
OM T OM|x 346 8350 43 0 0.0 21.8 14.8 0 0 14.8
B dREFME 356| 8569 6.2 0 0.0 21.3 15.0 0 0 15.0
PO A MR 356| 8567 6.2 0 0.0 235 155 0 0 155
B oA FEE 356 8555 7.1 0 0.0 214 16.8 0 0 16.8
# g BT WE(E 356| 8570 5.4 0 0.0 20.6 14.7 0 0 14.7
M ET|N E[E 356| 8562 5.7 0 0.0 19.7 14.6 0 0 14.6
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T RER | g | BE | B BFE| By 2r-B8E | xr-A%KE
iR EEREEE| <o#s | zoma
(B5RE) | (ppmC)| (ppmC)| (H) |[(ppmC)| (opmC)| (B) | (%) | (H) | (%)
t B M|t ElEF 8695 0.05| 0.06 366/ 0.70| 0.01 3 038 2 0.5
AN B T[N #|#ET | 8604 008 009 358 231|001 15 4.2 9 2.5
W B | B[X 7004 0.11] 0.1 292| 1.07| 0.0 16 5.5 8 2.7
B W e FEE 8479 0.06| 0.06 355 0.26] 002 2 0.6 0 0.0
M OE ET(N E|E 8661 007 0.8 364 051| 0.00 3 0.8 1 0.3
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iR EEE[RER B REE[RER
(BFME) | (ppmC)| (ppmC)| (A) [ (ppmC)| (ppmC)| (BFRED) | (ppmC)| (ppmC)| (H) | (ppmC)| (ppmC)
t B Wt E|iE 8695 1.99| 200 366 232| 1.88| 8695 204 206 366 273 193
AN ¥y [y #a[#ET [ 8604 203 203 358 240| 1.86| 8604| 211 212 358 431 1.89
W B Tl Bk 7002 2.00[ 200 202 215 187 7002| 2.1 2.1 292 308| 1.91
B W e EE 8479 199 1.99 355 214 1.88| 8479 204| 204 355 230 1.93
N OE BTN #|E 8661| 204 206 364] 248| 185 8661 211 214 364] 261| 194
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B) | @D [ em) | (pm) | BERD) | (%) | (BERD) | (%) =) (%) D) (%) (ppm) )]
& R m|(B)RE |& 362 8630] 0.014 0058 0 0.0 0 0.0 0 0.0 0 0.0| 0.021 0
& R m|(B)HHET & 364| 8695 0012 0.079 0 0.0 0 0.0 0 0.0 0 0.0| 0.020 0
£ R m|(B)FE [F 362| 8639] 0.003| 0.024 0 0.0 0 0.0 0 0.0 0 0.0|] 0.006 0
Frmm|E)Fah|{E 366 8678] 0.010 0.049 0 0.0 0 0.0 0 0.0 0 0.0| 0.021 0
3E) T98%{EEHIC kD1 B FEA0.06ppmEB A=A ILIE. 1ERD 1B FHEDIEI8%DEHEIZH T, HhD. 0.06ppmERBZ LD DB TH S,
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BT BIER g ER = 5 = HX = 15
i R | G 5 & B | pposni | ER% | & i | posuts | NOZ/NONO2)
(2) (B5FE) | (ppm) (ppm) (ppm) (=) (B5fED) | (ppm) (ppm) (ppm) (%)
+ R m|(B)RE |& 362| 8630 0.007| 0.079] 0014 362| 8630 0.021| 0.129] 0.034 66.2
& R W|(B)RET & 364| 8695/ 0007 0.122( 0015 364| 8695 0.019| 0.147| 0.034 64.2
& R m|(B)FE [F 362| 8639 0001 0021 0003 362 8639 0.005( 0042] 0.008 69.3
Frmm|E)Fah|{E 366 8678] 0.007| 0.109] 0.023 366| 8678 0017 0.152| 0.043 56.8
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T 16 SN o | 1SR E
' | o |emmEscpema|  TETIES | pepa | gy | TETOEA | REREORMN | 00
. a AERE | 211 argping 10ppm% = 10ppmZF B Z F- A AV FEMMIC & 51 B FEY| . P
. | BE A i BAEHETD 231 Ak DEE | DERH 2BLLLEE  |{EA10ppmAELEE - LlE&go
wEr | AR || Bm | F " T Y S B | 2% Pl L [ A
ZDESE sl | LIECEDHR B PY=rh
(8) (BERE) | (ppm) ([E) (%) B (%) (ppm) | (ppm) (B x - #&O) (8) (/)
& R W|(BEE (& 366| 8724 03 0 0.0 0 0.0 5.0 0.4 O 0 0
& R m|(B)RET @& 366| 8717 0.5 0 0.0 0 0.0 135 1.0 O 0 0
& R Wm|(B)WFE [F 366| 8724 0.2 0 0.0 0 0.0 05 0.2 O 0 0
Famm|(E)FaH|[{E 365| 8675 03 0 0.0 0 0.0 15 0.4 O 0 0
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his| BE BRKEZOEE | BREZOES | epim | e pagriy @t
B) | @D | (mg/m®| @D [ (%) =) %) | (mg/m®) | (mg/m¥| B x - £O) =)
& R W|(BEE (& 362| 8713 0010 0 0.0 0 00| 0064 0.023 O 0
& R m|(B)RET @& 362 8699| 0.014 0 0.0 0 00| 0.175| 0.032 O 0
& R W|(B)WE [F 362| 8714 0010 0 0.0 0 00| 0062 0.023 O 0
Famm|(E)FaH|[{E 362| 8708| 0.012 0 0.0 0 00| 0.103| 0028 O 0
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(B) | B |(ug/md| B (%) | (ueg/m®| (ug/m (2) () (¢ g/m%
& R m|(B)LFE [F 356| 8622 5.8 0 0.0 20.5 147 0 0 14.7
Famm|(E)FaH|[{E 356| 8564 7.3 0 0.0 22.0 16.7 0 0 16.7
) MESEEORMNTHEIZE21 B FHEMNS 1 /M ERBABHIEE. IERD1BEHEDSHENANSI8%DEEIZH>T, N, 3b5ue/m%E
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(B5FE) | (ppmC) | (ppmC) (8) (ppmC) | (ppmC) (8) (%) (H) (%)
& R m|(B)RE |& 8698 0.10] 0.10 366 0.82 0 3 0.8 2 05
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war | mER (B2 Tm | @ | #%m AEn mo| e | ETs | MER
fi8 Bt | RIEE fi8 BElE | REE
(BfE) | (ppmC) | (ppmC) (8) (ppmC) | (ppmC) | (B§RE) | (ppmC) | (ppmC) (2) (ppmC) | (ppmC)
£ R H(ERE |&E 8698|  2.01 2,01 366| 2.24| 189 8698| 2.11 2.11 366 2.85 1.95
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sl e oot s | E 27 4R B | T Rios i | E 204 fE | F R0 | S| SAn2E | SR ERE | SfnaE R | S EE

£ R W= Bl1E 0.001 0.001 0.001 0.000
& R W@ ® EHE 0.002 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000
& R W I HHE 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.000
& R |t 1 RES 0.002 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001
t B Wt ElE 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B WA It FES 0.002 0.003 0.003 0.003 0.003 0.002 0.001 0.000 0.000 0.000
/AN /N 71 DI W|ET 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
W OB ™| I=1E S 0.000 0.000 0.000 0.000 0.000 0.000
B W ZF|1E 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.000 0.000 0.000
BE = T|IR L 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.000

(2) —EeRE (1 BEHEDER 2 %hEIME) (GRIBE - 0. 04ppmLLTF)

- AED A& 1B FHEDERM2%RSME (opm)

sl e oot s | E 274 B | T Rios i | E 204 fE | FRs0E R | S| SAn2E e | SR ERE | SfnaE R | S EE

£ R W= Bl1E 0.002 0.002 0.001 0.002
& R Wm|@E ® E|E 0.009 0.008 0.006 0.009 0.006 0.002 0.001 0.001 0.001 0.001
£ R W I HHE 0.003 0.003 0.003 0.003 0.003 0.002 0.001 0.002 0.002 0.001
& R it 1 RES 0.004 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002
t B M|t ElE 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001
t B WA It FES 0.013 0.022 0.025 0.021 0.023 0.019 0.009 0.001 0.002 0.002
/AN /N 71 DN W|ET 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
W OB ™| I=1E S 0.001 0.001 0.001 0.001 0.001 0.001
=R VN ZF|1E 0.002 0.002 0.001 0.002 0.002 0.002 0.001 0.001 0.001 0.001
BE = T|IR L 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.002




Q) ZBIER (ETHIE)

- TR A& £ F #H & (ppm)
sl oot s | E 27 4R B | T Rios i | E 204 | FRis0E R | S| SAn2EE | SR ERE | SfnaE R | S EE

€ R W= BlE 0.005 0.005 0.004 0.005
& R Wm|@E ® | 0.009 0.008 0.008 0.009 0.007 0.006 0.006 0.006 0.005 0.005
& R W I HHE 0.006 0.006 0.005 0.005 0.005 0.004 0.003 0.004 0.003 0.004
& R W% RiE 0.007 0.006 0.006 0.006 0.005 0.005 0.006 0.006 - 0.005
£ R ™| Fic] S 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005 0.005
& R W|&E 1 RES 0.009 0.007 0.007 0.007 0.006 0.006 0.005 0.005 0.005 0.005
£ R m|dt ER[1E 0.006 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.003 0.003
t B |t =4 RS 0.005 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.003 0.002
t B f|A I 1% 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002
/AN N 7 W|ET 0.006 0.006 0.005 0.006 0.005 0.005 0.005 0.004 0.004 0.004
W B ™| I=1ES 0.001 0.001 0.001 0.001 0.001 0.002
mE WmK OB OFME 0.007 0.007 0.005 0.006 0.006 0.005 0.005 0.004 0.004 0.003
¥ H|H (7 0.004 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002
B W |l I=1E S 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.003
=R VN ZF|1E 0.007 0.007 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.004
BE = T|IR L 0.007 0.006 0.005 0.006 0.005 0.005 0.004 0.004 0.004 0.004
b= v f =3 1 [{E 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003
N BT E 0.007 0.006 0.005 0.006 0.005 0.005 0.004 0.004 0.004 0.004

4) —BiE=EFR (1 BEHYIEDFERI8WIE) (BREEELE . 0. 04ppm~0. 06ppmLATF)

- AES = 1B FEHEDERIS%IE (ppm)

sl e oot ps | E 274 B | T Rios i | E 204 | FRs0 R | S| SAn2E e | SR ERE | SfnaE R | S EE

£ R W= BlE 0.010 0.010 0.009 0.011
& R W@ ® EE 0.021 0.018 0.017 0.021 0.015 0.016 0.016 0.015 0.014 0.013
& R W I HHE 0.014 0.013 0.011 0.012 0.012 0.010 0.008 0.008 0.008 0.012
& R W% RiE 0.016 0.014 0.013 0.014 0.011 0.012 0.014 0.015 - 0.015
£ R ™| Fic] S 0.018 0.017 0.015 0.016 0.013 0.015 0.014 0.012 0.013 0.011
& R W|&E = RES 0.022 0.019 0.017 0.019 0.015 0.016 0.016 0.014 0.014 0.012
£ R Wit ER[1E 0.013 0.012 0.010 0.012 0.009 0.009 0.010 0.007 0.008 0.007
t B |t =4 RS 0.011 0.009 0.010 0.009 0.008 0.008 0.008 0.007 0.007 0.006
t B f|A I 1% 0.008 0.006 0.007 0.007 0.006 0.006 0.005 0.005 0.005 0.005
/AN N 7 W|ET 0.015 0.013 0.012 0.015 0.010 0.011 0.011 0.009 0.008 0.008
W B ™| I=1ES 0.003 0.003 0.004 0.003 0.003 0.006
m g WK B OFME 0.016 0.016 0.011 0.017 0.012 0.011 0.011 0.009 0.010 0.008
¥ H|H (7 0.009 0.006 0.006 0.006 0.005 0.005 0.005 0.005 0.004 0.004
B W |l I=1E S 0.010 0.010 0.008 0.010 0.007 0.007 0.007 0.006 0.006 0.006
=R VN ZF|1E 0.022 0.015 0.013 0.013 0.011 0.012 0.012 0.010 0.009 0.009
BE = T|IR L 0.016 0.015 0.011 0.016 0.011 0.012 0.011 0.009 0.009 0.009
g ET|E 1 [ 0.014 0.010 0.010 0.010 0.008 0.008 0.008 0.007 0.007 0.007
N BT E 0.019 0.015 0.015 0.015 0.012 0.013 0.012 0.012 0.012 0.011




(6) —BL=EH (FFHYE)

- TR A& £ F # {E (ppm)
el e oot s | E 274 B | T Rios i | E 204 fE | FRs0E R | S| SAn2E e | SR ERE | SfnaE R | SN EE

£ R W= Bl1E 0.000 0.000 0.000 0.000
& R W@ ® EHE 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.002
& R W I HHE 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.002
& R W% RiE 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001 - 0.001
£ R ™| Fic] RS 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000
& R W|@E 1 RES 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
£ R mW|dt ER[1E 0.002 0.002 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000
t B |t =1 RS 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
t B WA I (1% 0.001 0.000 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000
/AN N 7 W|ET 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
W B ™| I=1ES 0.000 0.000 0.000 0.000 0.000 0.000
m g WK B OFME 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
¥ W |7 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
B W |l I=1E S 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
=R VN ZF|1E 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
BE = T|IR L 0.002 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001
g ET|E 1 1 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
N BT E 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000

(6) =Ry (FETHE)

- AEB A& £ F # & (ppm)

sl e oot ps | E 274 B | T Rios i | E 20 | FRs0E R | S| SAn2EE | SR ERE | SfnaE R | S EE

£ R W= Bl1E 0.006 0.005 0.005 0.005
& R W@ ® EHE 0.012 0.011 0.010 0.011 0.008 0.007 0.007 0.007 0.007 0.006
£ R W I HHE 0.008 0.007 0.007 0.006 0.005 0.004 0.004 0.004 0.004 0.006
& R W% RiE 0.008 0.007 0.006 0.006 0.006 0.006 0.007 0.007 - 0.006
£ R ™| Fic] RS 0.010 0.009 0.009 0.008 0.008 0.007 0.006 0.006 0.006 0.005
& R W|@E 1 RES 0.010 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005
£ R Wit ER[1E 0.008 0.007 0.006 0.006 0.005 0.004 0.004 0.004 0.004 0.004
t B |t =1 RS 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.003
t B A I (1% 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002
/AN N 7 D W|ET 0.007 0.007 0.007 0.007 0.006 0.006 0.006 0.005 0.005 0.005
W B ™| I=1ES 0.002 0.002 0.001 0.001 0.002 0.002
m ' WK B OFME 0.010 0.009 0.006 0.008 0.007 0.007 0.006 0.006 0.005 0.005
¥ H|H |7 0.005 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002
B W |l I=1E S 0.005 0.005 0.005 0.005 0.004 0.004 0.004 0.003 0.004 0.004
B W ZF|1E 0.009 0.008 0.007 0.006 0.006 0.006 0.005 0.005 0.005 0.005
BE = T|IR L 0.009 0.008 0.007 0.007 0.006 0.006 0.006 0.005 0.005 0.005
b= v f =3 1 [{E 0.006 0.006 0.005 0.005 0.005 0.004 0.005 0.004 0.004 0.003
N BT E 0.008 0.007 0.006 0.006 0.006 0.005 0.005 0.005 0.005 0.004




(1) —BexE (EFEHIE)

- TR A& £ F #H {E (ppm)
sl oot ps | E 274 B | T Rtos i | E 204 fE | R0 | S| SAn2E e | SR ERE | SfnaE R | S EE
£ R W= BlE 0.1 0.1 0.2 0.1
t E Wt ElE 0.1 0.2 0.2 0.2 0.2
SR EA F|1E 0.2 0.2 0.2 0.2 0.2 0.2 0.2
(8) —Eibik®z (1 BFHEDFR 2 %bkrIME) GRIBE® . 10ppmLA F)
- AEE =T 1B EHEDER2%EIME (opm)
" IS | o6 | T ko7 RE | T8 | F R0 | TR0 E E | S M EE| S ERE | SHEE | SH4EE|SfsEE
£ R W= ElE 0.3 0.3 04 0.3
t B Wt ElE 0.4 04 0.3 0.3 0.3
=R G B F|1E 0.4 0.4 0.3 0.4 0.3 0.3 0.3
9) HieZAX A b (REO 1 EBREQEFEHE)
- TR A& BREDOIFEEEDEFHIE (ppm)
sl e oot ps | E 27 4R B | T Rios i | E 204 fE | FRis0E R | S| SAn2E e | SR ERE | SfnaE R | SN EE
€ R W= B|E 0.031 0.044 0.040 0.041
& R W m E 0.039 0.037 0.036 0.041 0.040 0.038 0.037 0.039 0.039 0.040
& R W I HHE 0.039 0.044 0.039 0.041 0.035 0.036 0.036 0.037 0.035 0.036
& R & RiE 0.038 0.037 0.038 0.038 0.038 0.037 0.036 0.037 - 0.037
£ R ™| Fic] S 0.041 0.042 0.041 0.042 0.037 0.038 0.037 0.038 0.037 0.039
& R | = RES 0.042 0.041 0.042 0.045 0.041 0.041 0.038 0.039 0.037 0.038
£ R Wit ER[1E 0.041 0.045 0.043 0.042 0.040 0.039 0.037 0.040 0.037 0.037
t B |t =1 RS 0.038 0.040 0.038 0.040 0.037 0.036 0.036 0.035 0.037 0.038
/A /N 7 P W|ET 0.038 0.042 0.043 0.040 0.038 0.036 0.032 0.035 0.038 0.038
B | I=1E S 0.039 0.040 0.038 0.041 0.041 0.039
mE mX B OFHE 0.030 0.037 0.036 0.035 0.032 0.034 0.033 0.034 0.034 0.035
DN PP WE|7E 0.038 0.039 0.037 0.039 0.039 0.039 0.039 0.040 0.039 0.040
B W |l I=1ES 0.041 0.041 0.038 0.041 0.038 0.039 0.037 0.037 0.037 0.038
I=IRTTIG i EVN F|E 0.036 0.037 0.037 0.039 0.039 0.039 0.037 0.040 0.038 0.041
BE % ™[R LlE 0.040 0.043 0.042 0.039 0.037 0.038 0.037 0.038 0.037 0.038
E g BT ] FES 0.037 0.040 0.041 0.037 0.036 0.037 0.036 0.038 0.036 0.037
N ET(A #E 0.036 0.039 0.038 0.038 0.039 0.038 0.037 0.040 0.037 0.039
o RE B HT| R Z1ES 0.038 0.038 0.036 0.040 0.036 0.036 0.037 0.039 0.038 0.039
(10) #feZAXIF L+ (REDBRS 1 BEEQEFHIE)
- AED A& BREO A &S BEEDOETHE (bpm)
sl oot ps | E 27 4R B | T Rtos i | E 204 fE | FRs0E R | S| SAn2E e | SR ERE | SfnaE R | SN EE
€ R W= B|E 0.039 0.053 0.050 0.050
& R W m E 0.051 0.048 0.047 0.052 0.051 0.049 0.046 0.048 0.049 0.049
& R W I HHE 0.049 0.054 0.048 0.050 0.045 0.046 0.045 0.046 0.044 0.045
& R & RiE 0.049 0.048 0.048 0.049 0.049 0.047 0.045 0.047 - 0.046
£ R ™| Fic] S 0.051 0.052 0.051 0.052 0.047 0.048 0.046 0.047 0.046 0.047
& R | 1 RES 0.053 0.052 0.052 0.056 0.052 0.051 0.048 0.049 0.047 0.048
£ R Wit ER[1E 0.052 0.055 0.053 0.052 0.051 0.050 0.047 0.049 0.047 0.047
t B |t =4 RS 0.049 0.050 0.047 0.049 0.048 0.046 0.045 0.045 0.047 0.047
IR T W|ET 0.050 0.053 0.053 0.051 0.049 0.046 0.042 0.045 0.048 0.048
B | I=1E S 0.047 0.047 0.045 0.048 0.048 0.047
mE WX B OFHE 0.041 0.050 0.049 0.047 0.045 0.046 0.044 0.046 0.047 0.047
DI PP WE|7E 0.047 0.048 0.045 0.048 0.048 0.048 0.047 0.048 0.048 0.049
B W |l I=1ES 0.051 0.052 0.048 0.051 0.048 0.049 0.047 0.046 0.046 0.048
I=IRTTIG i EVN F|E 0.046 0.047 0.047 0.048 0.049 0.048 0.045 0.048 0.046 0.050
BE % ™[R LlE 0.052 0.054 0.052 0.050 0.048 0.049 0.047 0.047 0.047 0.048
E g BT ] FES 0.049 0.051 0.052 0.048 0.047 0.048 0.047 0.049 0.047 0.048
N E AT #E 0.047 0.049 0.048 0.049 0.050 0.048 0.047 0.049 0.047 0.048
o RE B HT| R Z1ES 0.047 0.047 0.045 0.049 0.045 0.045 0.046 0.048 0.046 0.048




D ffeRAXRTH U b (REO 1 EEEA0. 12ppmil £ D B

HET HER ik REID1ERED0.120pml LD B (B)
el e oot s | E 274 B | T Rios i | E 204 fE | FRs0E R | S| SAn2E e | SR ERE | SfnaE R | SN EE

€ R W= Bl 0 0 0 0
& R W@ ® EHE 0 0 0 0 0 0 0 0 0 0
& R W I HHE 0 0 0 0 0 1 0 0 0 0
& R W% RlE 0 0 0 0 0 0 0 0 - 0
£ R ™| Fic] RS 0 0 0 1 0 0 0 0 0 0
& R W|@E BB [1E 0 0 0 1 0 0 0 0 0 0
£ R mW|dt ER[1E 0 0 0 0 0 0 0 0 0 0
t E Wt ElE 0 0 0 0 0 0 0 0 0 0
/AN /N 71 DI W|ET 0 0 0 0 0 0 0 0 0 0
W OB ™| =1ES 0 0 0 0 0 0
mE WX B FHE 0 0 0 0 0 0 0 0 0 0
¥ H|H | 0 0 0 0 0 0 0 0 0 0
B W |l I=1ES 0 0 0 0 0 1 0 0 0 0
I=IRTTIG i EVN F|1E 0 0 0 0 0 0 0 0 0 0
BE % ™[R LE 0 0 0 0 0 0 0 0 0 0
EOME ET|E (1 0 0 0 0 0 0 0 0 0 0
N E AT #E 0 0 0 0 0 0 0 0 0 0
o RE B HT| R Z1ES 0 0 0 0 0 0 0 0 0 0

(12) A FIHF U+ CHREENDHRSEDERISA—t 2 1 )L{E)

- AEB Ag SEFMHEIED B RS EDERMI/ S—t 2 ILIE (ppm)

sl oot ps | E 27 4R B | T Rios i | E 204 fE | TR0 | S| SAn2E e | SR ERE | SfnaE R | S EE

£ R W= B|E 0.076 0.088 0.075 0.093
& R W@ ® EHE 0.087 0.083 0.071 0.088 0.084 0.095 0.072 0.070 0.079 0.074
£ R W I HHE 0.080 0.087 0.076 0.092 0.074 0.093 0.074 0.072 0.079 0.073
& R W% RiE 0.085 0.082 0.071 0.087 0.080 0.094 0.070 0.071 - 0.073
£ R ™| Fic] RS 0.082 0.082 0.072 0.090 0.076 0.095 0.071 0.070 0.072 0.072
& R W|@E 1 RES 0.087 0.084 0.076 0.090 0.082 0.093 0.074 0.070 0.075 0.072
£ R Wit ER[1E 0.084 0.088 0.075 0.091 0.083 0.094 0.072 0.073 0.076 0.074
t B |t =1 RS 0.081 0.087 0.072 0.096 0.077 0.087 0.070 0.063 0.076 0.071
/AN /N 71 DY W|ET 0.085 0.086 0.081 0.090 0.077 0.090 0.067 0.069 0.075 0.072
bW 5 | I=1E S 0.080 0.092 0.069 0.067 0.080 0.074
mE mX B FHE 0.077 0.079 0.074 0.084 0.074 0.087 0.069 0.065 0.075 0.070
DI PP WE|7E 0.078 0.080 0.067 0.082 0.078 0.085 0.073 0.070 0.076 0.074
B W |l I=1ES 0.089 0.088 0.070 0.088 0.078 0.094 0.073 0.072 0.074 0.073
I=IRTTIG i EVN F|E 0.081 0.080 0.069 0.082 0.077 0.098 0.068 0.071 0.077 0.076
BE % ™[R LE 0.083 0.085 0.076 0.080 0.075 0.090 0.071 0.069 0.072 0.070
E0E ET|E (1 0.083 0.090 0.076 0.088 0.075 0.094 0.071 0.070 0.076 0.073
N ET(A #E 0.085 0.079 0.070 0.082 0.077 0.089 0.070 0.073 0.075 0.074
o RE B HT| R Z1ES 0.079 0.083 0.068 0.086 0.074 0.088 0.076 0.071 0.079 0.075




(13) REEAXIF b CRMEDHESEDEMIIN—t 2 1 JLEDIFTY)

T B A& 8HFMHIE D B &S EDF M99/ \—t 24/ ILIE (ppm)
g [Fpgoa~ [FEm25~ [TRi26~ [FH27~ [FEri2s~ [ER29~ [FEmso~ [$fz~ [&Fn2~ [$F13~
265 E 215 E 285 205 E EE|SMTEE 2EE 3EE AEE SEE
& R W= HE 0.075 0.079 0.080 0.085
& R WH(E @ S| 0.079 0.081 0.080 0.081 0.081 0.089 0.084 0.079 0.074 0.073
& R Wl L HE 0.081 0.083 0.081 0.085 0.081 0.086 0.080 0.080 0.074 0.073
& R T R4 0.081 0.081 0.079 0.080 0.079 0.087 0.081 0.078 - 0.072
& R |8 7| 0.078 0.081 0.079 0.081 0.079 0.087 0.081 0.079 0.071 0.071
& R H|E |4 0.083 0.084 0.082 0.083 0.083 0.088 0.083 0.079 0.073 0.072
& R Wit |4 0.077 0.079 0.082 0.085 0.083 0.089 0.083 0.080 0.073 0.073
+ B |t Bl 0.080 0.084 0.080 0.085 0.082 0.087 0.078 0.073 0.070 0.069
IR T N 0.078 0.081 0.084 0.086 0.083 0.086 0.078 0.075 0.070 0.070
B | Bl*x 0.0803% |0.0863% 0.080 0.076 0.072 0.071
moE WK E OF[E 0.076 0.078 0.077 0.079 0.077 0.082 0.077 0.074 0.070 0.069
B M (S Ve | 75 0.077 0.079 0.075 0.076 0.076 0.082 0.079 0.076 0.073 0.073
ST ] Bl*x 0.080 0.083 0.082 0.082 0.079 0.087 0.082 0.080 0.073 0.073
B | 1|1 0.077 0.078 0.077 0.077 0.076 0.086 0.081 0.079 0.072 0.072
B % R i I 0.076 0.080 0.081 0.080 0.077 0.082 0.079 0.077 0.071 0.070
E 1B ET|E A0S 0.081 0.084 0.083 0.085 0.080 0.086 0.080 0.078 0.072 0.072
Mo AT #|1E 0.080 0.080 0.078 0.077 0.076 0.083 0.079 0.077 0.073 0.073
o 4 B AT |2 Bl*x 0.079 0.080 0.077 0.079 0.076 0.083 0.079 0.078 0.075 0.074
X HERIFHIEELYATEDT=H. BEERU2TVEESTOERHELHOTNS
(14) ZFHEHFRYME (EFHE)
| pem |PE E_F 85 {8 (mg/md)
sl e oot ps | E 274 B | T Rios i | E 204 fE | FRiso R | S| SAn2E e | SR ERE | SfnaE R | S EE
& R W= HIE 0.015 0.014 0.013 0.011
& R ™(E B S| 0.017 0.016 0.014 0.013 0.013 0.010 0.011 0.010 0.010 0.010
& R Wl X HE 0.014 0.016 0.014 0.013 0.013 0.012 0.011 0.010 0.010 0.010
& R (it |4 0.017 0.015 0.012 0.011 0.012 0.010 0.010 0.008 0.009 0.009
+ B |t Bl 0.015 0.016 0.014 0.013 0.014 0.013 0.012 0.011 0.011 0.012
+ B m|Xx ] ES 0.019 0.019 0.017 0.017 0.016 0.012 0.011 0.010 0.011 0.013
+ B W\ 8B E|® 0.015 0.015 0.014 0.014 0.014 0.011 0.010 0.008 0.008 0.009
+ B il & B|® 0.014 0.016 0.013 0.013 0.013 0.010 0.008 0.007 0.008 0.007
+ B #|A g5 |4 0.017 0.016 0.018 0.016 0.016 0.013 0.012 0.009 0.010 0.011
W 7 N 0.014 0.015 0.013 0.013 0.014 0.010 0.008 0.007 0.007 0.007
% B | Bl*x 0.011 0.011 0.011 0.009 0.010 0.010
moE K B OF|E 0.016 0.016 0.014 0.014 0.014 0.012 0.011 0.010 0.010 0.010
PoI G P Ve |7 0.015 0.015 0.015 0.014 0.015 0.011 0.010 0.008 0.008 0.009
SIITR ] Bl*x 0.016 0.016 0.015 0.012 0.012 0.011 0.012 0.009 0.010 0.010
SRR F|1 0.016 0.015 0.013 0.013 0.013 0.011 0.011 0.010 0.011 0.011
B W |E MES 0.018 0.017 0.015 0.014 0.014 0.012 0.011 0.010 0.011 0.011
B % R i I 0.015 0.016 0.014 0.014 0.014 0.012 0.009 0.008 0.008 0.008
E 1B ET|E A0S 0.017 0.017 0.016 0.015 0.014 0.013 0.011 0.010 0.011 0.011
Mo AT #|1E 0.017 0.016 0.015 0.014 0.013 0.013 0.009 0.011 0.011 0.012




(15) F#EMFRKYE (1 BEHBOER 2 %ERIME)

(BIEE# - 0. 10mg/m’ LI TF)

T B A& 1B HEDERM2%MRIME (mg/m3)
. sl ppoe s e | E 274 | FRios i | Eri2oE | ERis0E B | S| SAn2 e | SR EE | SfaE | S5 EE
& R = ElE 0.040 0.039 0.033 0.030
& R W@ B H[E 0.042 0.042 0.034 0.034 0.032 0.028 0.028 0.021 0.022 0.025
& R W/ X BE 0.040 0.042 0.032 0.033 0.036 0.029 0.029 0.023 0.023 0.022
& R it 3| 0.043 0.045 0.032 0.033 0.033 0.030 0.031 0.021 0.025 0.025
+ B |t Bl 0.045 0.048 0.034 0.032 0.034 0.032 0.033 0.026 0.024 0.030
+ B X 22| ES 0.051 0.051 0.039 0.042 0.039 0.036 0.030 0.029 0.028 0.031
+ B W\ & E|Xx 0.043 0.049 0.033 0.037 0.036 0.030 0.030 0.026 0.021 0.030
+ E il & B|® 0.047 0.047 0.028 0.029 0.032 0.026 0.025 0.020 0.019 0.024
+ B A 5 |4 0.053 0.054 0.063 0.055 0.076 0.057 0.045 0.025 0.024 0.033
IR | w|ET 0.038 0.043 0.029 0.030 0.033 0.027 0.029 0.019 0.020 0.021
% B | B|% 0.036 0.027 0.029 0.023 0.021 0.025
moE WK E OF[E 0.043 0.043 0.031 0.031 0.034 0.032 0.033 0.022 0.023 0.024
B P ¥ |7 0.043 0.044 0.032 0.036 0.038 0.032 0.031 0.023 0.022 0.026
ST ] B|% 0.041 0.039 0.034 0.031 0.033 0.032 0.033 0.022 0.023 0.024
=INTT o EA |4 0.042 0.040 0.030 0.030 0.031 0.029 0.031 0.021 0.024 0.025
ST ES JIIES 0.044 0.047 0.035 0.040 0.034 0.029 0.031 0.024 0.023 0.025
B x H|R | 0.040 0.044 0.029 0.035 0.033 0.031 0.028 0.022 0.020 0.023
b= |1 0.043 0.047 0.034 0.038 0.038 0.031 0.030 0.023 0.023 0.026
Mo ET| | 0.045 0.045 0.037 0.039 0.033 0.032 0.024 0.025 0.024 0.027
(16) #UMHFRYE (ETHE) (BISEE  15ug/mLUT)
T B A& £ F B fE (ug/md)
sl oot e | E 274 | ERios i | Eri2oF | ERis0E | S| SAn2E e | SR EE | SfaE | S5 EE
& R W@ B 12.4 10.9 9.8 9.3 9.4 8.1 7.6 6.7 6.5 6.4
& R W/ Z BME 10.1 7.2 6.8 6.6 5.3 5.3 5.0 5.7 45
& iR | 2| 9.8 7.2 6.6 6.6 5.8 5.6 48 - 5.8
& R |&E 3| 115 10.6 9.0 8.6 8.7 7.9 70 6.5 6.9 6.4
& iR (it 3| 1.3 10.5 8.8 85 8.9 7.8 7.0 6.5 74 6.9
+ B |t Bl 13.4 12.5 11.0 10.4 1.1 10.1 74 6.7 74 7.1
IR 1 N B 11.4 10.8 9.6 9.3 9.0 8.6 8.5 6.3 7.0 7.0
W B | B|% 10.8 9.7 74 7.2 7.2 6.3 6.2 5.1 55 5.6
BN W% BUES 9.9 9.5 6.8 6.8 7.3 5.6 5.7 4.7 45 43
moE WK E OF[E 12.2 1.4 8.0 7.9 8.3 74 6.7 5.7 5.5 6.2
B P ¥ |7 13.0 11.6 8.6 8.4 8.4 74 74 6.4 6.5 6.2
SR i P £ 1.3 12.0 10.6 10.2 9.8 7.7 74 6.8 74 7.1
E 1B ET|E 1|1 10.0 10.1 7.9 74 75 6.4 6.4 55 5.2 5.4
Mo AT | 10.5 10.6 7.6 7.6 75 6.8 5.9 5.6 5.0 5.7
(17) #MEFIRYE (1 BEEDERIIB%IE) (BIEEE - 3B5ug/mLUT)
- AES = 1B FEHEDOEMIS% (1g/m3)
sl e oot ps | E 27 4R B | T Rtos i | E 204 fE | FRis0 R | S| SAn2E e | SR ERE | SfnaE R | S EE
& R W@ @ &E 30.4 28.4 22.8 23.8 25.4 20.3 21.6 16.2 15.0 16.2
& R W/ X B|E 27.4 17.8 18.3 21.0 14.6 175 14.0 14.0 13.3
& R | H|E 26.8 18.2 17.8 214 16.4 17.0 14.8 - 14.6
& R H|#&E 3| 29.6 27.4 235 225 25.5 20.0 20.1 17.1 17.1 17.0
& R it 3| 313 28.8 239 23.9 26.5 215 21.2 175 17.4 17.8
+ B |t Bl 39.0 338 26.5 30.3 29.9 23.9 19.2 16.8 17.2 18.0
R 1 TN w|ET 33.0 26.8 218 23.9 29.4 21.7 25.6 15.7 16.7 16.4
W B | Bl% 318 273 18.1 205 22.2 16.7 17.8 134 14.5 16.2
BN W% BUES 26.3 295 19.1 21.6 22.0 15.8 17.1 14.2 14.9 14.8
mE WA B OFME 31.2 29.9 18.5 20.3 238 20.2 208 14.0 16.4 15.0
BoI ] P e |7 34.2 305 19.8 21.4 240 17.9 18.8 15.0 15.2 15.5
=INTT o EA |4 30.0 29.8 243 26.4 28.6 19.8 19.7 16.4 17.0 16.8
b= | |1 25.3 28.8 18.5 19.2 22.6 175 17.8 14.8 13.8 14.7
M ET| #l 26.9 29.1 20.4 20.8 21.9 19.8 18.0 15.1 14.5 14.6
(18) A2 vikibKkE (EFHIE)
. S A& £ F ¥ {E (ppmC)
sl e oot s | E 27 4R B | T Rios i | E 204 fE | FRis0E R | S| SAn2E e | SR ERE | SfnaE R | SN EE
£ R #|= ElE 0.07 0.11 0.12 0.08
+ B |t Bl 0.04 0.03 0.07 0.07 0.04 0.05 0.05
+ B X 22| ES 0.09 0.06 0.06
IR 1 N B 0.16 0.11 0.07 0.07 0.07 0.08 0.08
W B | B|% 0.12 0.08 0.08 0.07 0.11 0.11
=INTT o EA |4 0.16 0.10 0.08 0.07 0.07 0.06 0.06
Mo AT | 0.05 0.07 0.04 0.07 0.07 0.06 0.08 0.07 0.06 0.07




(19) EAZ UiribKE 6~IFICHFIETHIE)
- AES = 6~9BFICHITHFEFHIE (ppmC)
sl e oot s | E 274 B | T Rios i | E 204 | TR0 | S| SAn2E e | SR ERE | SfnaE R | S EE
€ R W= BlE 0.07 0.12 0.12 0.09
t E Wt ElE 0.05 0.04 0.08 0.08 0.05 0.06 0.06
t B WX =] ES 0.09 0.06 0.07
/AN N 7 D W|ET 0.20 0.1 0.08 0.09 0.08 0.09 0.09
W B ™| I=1ES 0.12 0.09 0.08 0.08 0.12 0.11
B W F|E 0.16 0.10 0.08 0.07 0.07 0.06 0.06
N B[R E 0.07 0.09 0.06 0.08 0.09 0.07 0.09 0.08 0.08 0.08
(20) AR > (FEFYE)
- AEB Ag £ F ¥ {E (ppmC)
k Htsh e oot s | E 27 4R B | T Rios i | E 204 fE | FRis0E R | S| SAn2E e | SR ERE | SfnaE R | S EE
€ R W= BlE 1.97 1.99 2.01 2.05
t B |t Bl 1.93 1.93 1.95 1.96 1.97 1.99 1.99
t B WX =] ES 1.89 1.90 1.93
AN R TN NE- 1.97 1.96 1.98 1.98 2.01 2.01 203
W5 | Bl* 1.94 1.94 1.95 1.97 1.96 2.00
=TT EN E|4E 1.94 1.94 1.96 1.97 1.97 1.98 1.99
N # BT[N #1E 1.93 1.93 1.95 1.97 1.98 1.98 1.99 2.01 2.03 204
(21) &iribKE (FFEHIE)
- TR A& £ F 1 & (ppm0)
sl oot ps | E 274 B | T Rios i | E 204 fE | FRs0 R | S| SAn2E e | SR ERE | SfnaE R | S EE
£ R W= BlE 2.04 2.10 2.13 2.14
t B mW|t Bl 1.97 1.96 203 2.03 202 2.04 204
t B WX =] ES 1.98 1.96 1.99
AR A N W|#ET 2.14 207 2.05 2.05 208 2.09 2.11
W5 | Bl* 2.06 2.02 2.03 2.05 2.07 2.11
=TT EN E|4E 2.10 2.04 204 203 2.04 2.04 204
N # BT[N #1E 1.99 2.00 1.99 2.05 2.06 204 2.06 2.08 2.09 2.11




4 BBHEHHARIEROEMAEHEROBEELE

(1) —EILER (EFHE)
- AES A& £ OF 5 & (ppm)
k sl e oot ps | E 27 4R B | T Rios i | E 204 fE | FRis0E R | S| SAn2E e | SR ERE | SfnaE R | S EE
£ R m(BX & (& 0.025 0.023 0.020 0.020 0.018 0.016 0.014 0.014 0.013 0.014
& R m|(B)F B |& 0.028 0.031 0.032 0.028 0.027 0.023 0.014 0.015 0.015 0.012
£ R Wm|(B) # [E 0.006 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.003 0.003
Framm|(B)EFLH |1E 0.019 0.017 0.016 0.016 0.015 0.012 0.011 0.011 0.010 0.010
(2) —BiE=EFR (1 BEHEDFRISWIE) (IRBEZE : 0. 04ppm~0. 06ppmLL )

18 FHEDFEHI8%IE (ppm)

war | mem |HE
sl | pioe s e | E 274 | ERios i | Eri2oF | ERis0E B | S| SAn2E e | SR EE | SfaE | S5 EE
& R Hm(BR B |&E 0.035 0.036 0.029 0.032 0.027 0.026 0.023 0.022 0.021 0.021
& R W{EH BT |E 0.049 0.049 0.052 0.047 0.046 0.040 0.028 0.030 0.029 0.020
& R (B R |E 0.011 0.011 0.009 0.010 0.009 0.008 0.007 0.006 0.006 0.006
Bamm|[(E)Ham |E 0.035 0.031 0.031 0.035 0.028 0.025 0.023 0.022 0.022 0.021

Q) —Bb=EHR (FFYE)

F F 5 fE (pm)

wir | mes |PE
Hteh e oot s | E 274 B | T Rios i | E 20 fE | TR0 | S| SAn2E e | SR ERE | SfnaE R | SN EE
£ R m|(BX & (& 0.019 0.017 0.014 0.013 0.010 0.009 0.008 0.007 0.007 0.007
& R m|(B)F B |& 0.027 0.027 0.026 0.021 0.019 0.018 0.009 0.008 0.009 0.007
£ R W # [E 0.003 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.001
Framm|(E)EFLH |1E 0.021 0.017 0.015 0.015 0.013 0.011 0.010 0.008 0.008 0.007

4) ZEZXBtY (FFEH{E)
T AER A& £ E ¥ fE (ppm)
sl oot e | E 274 | FRios i | Ei20F | ERis0E B | S| SAn2E e | SR EE | SfnaE | S5 EE
& R Hm(BR B |&E 0.043 0.040 0.035 0.033 0.029 0.026 0.022 0.021 0.020 0.021
& R H|[(E)E B |B 0.054 0.058 0.058 0.050 0.046 0.041 0.023 0.024 0.024 0.019
& R W|(Ew R |E 0.009 0.008 0.008 0.007 0.007 0.006 0.005 0.005 0.005 0.005
Bamm|[(E)Ham |E 0.040 0.034 0.031 0.031 0.028 0.023 0.021 0.019 0.018 0.017

() —BbmE (FFLHIE)

T AER A& £ E ¥ fE (ppm)
. sl oot e | E 274 | FRkos i | Eri2oE | ERis0E B | S| SAn2E e | SR EE | SfaE | S5 EE
% R m(BR B |& 05 0.4 0.4 0.4 0.3 0.3 0.3 0.3 0.3 0.3
& R W|[(E)HF BT |% 0.8 0.8 0.9 0.7 0.7 0.7 0.4 0.4 0.4 05
& R (Bl R O|[E 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
Hamm|(E)Fam |E 0.4 0.3 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.3
(6) —EibixZzE (1 BFHEDER 2 %RIME) (BB E% . 10ppmLL F)
- TR A 1B EEDER2%FRIME (ppm)
sl e oot s | ERi274E B | T Rios i | E 204 | F R0 | S| SAn2E e | SR ERE | SfnaE R | SN EE
% R Wm|[(BR B |& 0.7 0.6 05 05 05 05 0.4 05 0.4 0.4
& R W|(E)H B |E 1.7 1.6 1.7 1.2 13 1.4 0.8 1.2 0.8 1.0
£ R W|(Ew B |E 0.4 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.2
Bamm|(EHaE |[1E 0.6 0.5 0.5 0.4 0.3 0.3 0.5 0.4 0.4 0.4




(D) FENFRYE (EFH{E)
I T B _F # {8 (mg/m3)
Wi [ o6t s | E 274 | FRios i | E 204 | TR0 | ST AR | SN2 | SHISERE | R4 ERE | SIS EE
& R WER & (& 0.015 0.015 0.013 0.012 0.013 0.011 0.011 0.010 0.010 0.010
& R H|(E)E B |7 0.029 0.026 0.025 0.019 0.020 0.017 0.013 0.013 0.014 0.014
& R (B R |E 0.013 0.012 0.013 0.012 0.012 0.011 0.011 0.010 0.009 0.010
Bamm[(EBam |[E 0.018 0.018 0.017 0.015 0.014 0.012 0.011 0.009 0.009 0.012
8) FHHFIRYE (1BFEHEDERM 2 %RIME) (BIEE - 0. 10mg/m°LLF)
| mem | PR 1B FHEDFE2%EIME (me/md)
Wi [ o6t s | E 274 | FRios i | E 204 | TR0 | ST AR | SAN24EE | SHISERE | R4 ERE | SIS EE
& R WER & (& 0.036 0.038 0.032 0.028 0.031 0.024 0.027 0.021 0.020 0.023
& R H|(E)E B |7 0.072 0.071 0.067 0.046 0.046 0.037 0.031 0.032 0.029 0.032
& R (B R |E 0.038 0.034 0.032 0.031 0.033 0.030 0.029 0.021 0.021 0.023
Bamm|(EHa |1 0.042 0.045 0.036 0.034 0.035 0.032 0.036 0.024 0.027 0.028
(9) MM FIRME (FF91E) (FBIEE®E - 15 g/mLLTF)
wm | mem |PE E_F 1 {8 (ug/md)
Hsel oot s | E 274 B | T Rios i | E 204 fE | FRs0 R | S| SAn2E e | SR ERE | Sfna s | S EE
£ R W|[(E)wL & |E 10.2 8.6 7.1 7.3 8.5 7.4 6.9 6.1 5.8 5.8
Bamm|(E)Eam|E 12.8 115 10.1 10.9 9.9 8.4 9.1 76 74 7.3
(10) #/MEEFIRYE (1 B FEEDERIIB%IE) (BIEEE - 3B5ug/mLUT)
T awp | PR 1B FEHIEDER8%IE (1 e/m3)
- el e oot ps | E 27 4R B | T Rios i | E 204 | R0 | S| SAn2E e | SRS ERE | SfnaE R | S EE
& R W[(EWL B (@& 28.8 25.0 195 20.0 239 19.4 19.3 175 14.3 14.7
Bamm|(E)Eam|E 34.1 28.7 23.2 28.5 273 20.6 23.3 18.0 175 16.7
(11) A2 ikibkFE (FFHIE)
- — £ FE B {E (ppmC)
Wil | g0t i | E 274 | F ko8 B | E 204 | FRk30EE | ST E | S AN | SHIERE | SMAERE| SIS EE
& R #m(BR B |& 0.13 0.13 0.13 0.12 0.12 0.13 0.11 0.09 0.14 0.10
(12) FEAZ UirdbKFE 6~IFICH T2 FETFHIE)
- axp | B 6~9FFIZHITDFEFIE (ppmC)
Wil | g0t i | E 274 | FRkos B | E 204 | FRk30EE | ST E | S AN | SHIERE | SMAERE| SIS EE
& R #m(BR B |& 0.12 0.12 0.11 0.11 0.10 0.10 0.09 0.07 0.08 0.10
(13) A5 > (FEHIE)
- — £ FE B f{E (ppmC)
Wil | a0t i | E 274 | F ko8 B | E 204 | FRk30EE | ST E | S AN | SHIERE | SMAERE| SIS EE
& R Hm(BR B |& 1.93 1.94 1.94 1.94 1.94 1.95 1.96 1.99 2.00 2.01
(14) £xibKkFE (FFHHE)
T A =S £ FE ¥ {E (ppm0C)
Wil | a0t | E 274 | F ko8 B | E 204 | FRk30EE | ST E | S AN | SHIERE | SMAERE| SIS EE
& R #m(BR B |& 2.06 2.07 2.07 2.06 2.06 2.08 2.07 2.08 2.14 2.11






